


An optimum tariff

(a) improves the terms of trade

(b) keeps the terms of trade constant
(c) lowers the terms of trade

(d) reduces the country’s welfare level

Customs union always leads to

(a) trade diversion alone

(b) trade creation alone

(¢) both trade diversion and trade creation

(d) neither trade diversion nor trade creation
Which one of the following is not an affiliate of the
world bank?

(a) the International Finance Corporation

(b) the multi-lateral investment guarantee
agency
(¢) the International Development Association

(d) the Asian Development Bank
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What is the correct sequence of the following?
1. Uruguay Round Talks

2. WTO's Seattle meet

3. Establishment of GATT.

Select the current answer using the codes given
below :

(@ 1,238 (b) 3,1,2

© 3,21 (d) 2.8,11

Which one of the following treaties was covered by
the Uruguay Road Negotiations? ,

(a) General agreement on Trade in Services

(b) Trade — Related Intellectual Property Rights
(c) Trade — Related Investment Measures

(d) All of the above

PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

(a) Discuss critically the Linder's theory of
international trade.

Or
(b) Explain the assumptions of Stopler -
Samuelson theorem.
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